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Guess Paper – 2007
Class – XII
Mathematics 
Section - A
1.    Solve :
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 2.  Solve using properties :    
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3. A and  B’ s probability of selection for jobs are1/3 and 1/5. Find the prob. that i) only one get a job. ii) at least one get a job.
4. A committee of 4 people is to be selected from a group of 6 men and 4 women. find the probability distribution of the women members of the committee.

5. Evaluate:  
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6. Evaluate: 
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.                    7. Solve :  
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8. Solve : 
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     9 .  Differentiate the following using first principle 
[image: image8.wmf]x
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10. 
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 Prove  
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 11. Evaluate: 
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 12. Using  L .M . V . T . find a point on the parabola y =  ( x – 3 ) 2 ,  where   

       the tangent is parallel  to the chord  joining the points ( 3 , 0 ) and ( 4 ,1 ).

13. Eva: 
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       14. Eva. Using properties: 
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15. Prove that 
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 OR  Draw circuit diagram and 
       simplify  
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16. Solve using Matrix method:  2 / x + 3 / y + 10 / z = 4   

      4 /x – 6/ y   + 5 / z = 1 .               6 / x + 9 / y – 20 / z
 17.  Find the maximum volume of a cylinder inscribed in a given cone.
 18.  Find the area enclosed between 
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  OR
 Evaluate 
[image: image17.wmf].
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 using limit of sums.

-------------------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com


[image: image18.png]cbseﬁguess



_1233911782.unknown

_1233996263.unknown

_1233998671.unknown

_1234082476.unknown

_1233998795.unknown

_1233997239.unknown

_1233995377.unknown

_1233995568.unknown

_1233912082.unknown

_1233912235.unknown

_1233911967.unknown

_1233911087.unknown

_1233911165.unknown

_1233911277.unknown

_1198531389.unknown

_1233910412.unknown

_1198443895.unknown

